INEFEST-BALOE A4

- T )

RDEIZkgBEMUTELI L L I,

(1) Ikg 78lg = kg (6) 39 = Kg
(2) |kg 4g = kg (7) lkg 9709 = kg
(3) 8kg 563g = kg (8) 299 = kg
(4) 6kg 3649 = kg (D) lkg l4lg = kg
(5) 674 = kg (10) Ikg 401g = kg
ROEIETmEMTELEL LD,

(1) Im 2cm = m (6) 13m 62cm = m
(2) 69cm = m (7 Tm 99cm = m
(3) 8m 85cm = m (8) 69cm = m
(4) lécm = m (@  Tem = m
(5) 8m 68cm = m (10)  50cm = m
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INSE(EST-BADEEHNZ 14

- T )

RDEIZkgBEATERLIL LD,

(1) |kg 781g = 1.781 kg (6) 39 = 0.003 kg
(2) |kg 4g = 1.004 kg (7) kg 970g = .97 kg
(3) 8kg 563g = 8.563 kg (8 299 = 0.029 kg
(4) 6kg 3649 = 6.364 kg (9) lkg l4lg = |.141 kg
(5) 6749 = 0.674 kg (10) lkg 401g = 1.401 kg
RODEIZmBEMATERLEL LD,

(1) Im12cm =  1.12 m (6) 13m 62cm = 13.62 m
(2) 69cm = 0.69 m (7 Tm 99cm = 7.99 m
(3) 8m 8cm = 8.85 m (8 69cm = 0.69 m
4) léem = 0.16 m @ Tem = 0.07 m
(5) 8m 68cm = 8.68 m (10) 50cm = 0.5 m
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